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1) The layer of the atmosphere with the highest concentration of gases is?

-A) Thermosphere

B) Stratosphere
C) Troposphere
D) Mesosphere

2) In which layer of the atmosphere is the lowest temperature recorded?
A) Troposphere

B) Mesosphere

C) Stratosphere

D) Thermosphere

3) If the maximum temperature for the day is 31 degrees Celsius and the minimum is 21 degrees ‘
. Celsius, what will the diurnal temperature range be?

A) 2 degrees Celsius
B) 60 degrees Celsius
C) 30 degrees Celsius

‘D) 20 degrees Celsius

4) The main aspect that distinguishes between weather and climate is?
A) Elements '

B) Measuring instruments

C) Units of measurement

D) Duration
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A) Low per capita income

B) High illiteracy rate

C) High birth rate

D) High death rate

14) The classification of countries into AICs, LICs and NICs is based on.
A) Level of literacy

B) Level of industrialization

C) Social development

D) Per capita income

15) Which of the following has contributed most significantly to the poverty situation in
Cameroon? _ ‘

A) Droughts

B) Failure by the government to stabilize public finances

C) Embezzlement of public funds

D) Retrenchment of workers

16) Most of the developing countries of Africa are in what stage of Rostow’s Development
Model?
. A) Traditional society -
B) Drive to maturity -
C) Take-off
D) Preconditions for take-off

" 17) One of the following is not a strategy used by NICs to emerge.
A) Government loans to industries at low interest rates
B) Devaluation of local currencies
C) Priority to general education
D) Restrictions on imports

18) Isolate the characteristic of Advanced Industrialized Countries.
A) High infant mortality rate

B) High rate of unemployment .

C) High dependency ratio

D) High energy eonsumption

19) The following are some countries:
1. Germany '
2. South Africa
3. Brazil
4. Chad
5. Russia
* Which of the following pair is all made up of Newly Industrialized Countries?
A)land2 '
B)3and 5
C)2and 3
D)4and 5 -
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5) Which weather instrument is made up of 3 or 4 cups attached to a vertical shaft?
A) Rain gauge

B) Wind vane

() Anemometer

D) Barometer .

6) Lines drawn on weather maps joining places of equal cloud cover are called?

" A) Isonephs .
B) Isobars
C) Isoclouds’
D) Isohel

7) What is the name given to the low temperature at which condensation occurs?
A) Condensation nuclei temperature

B) Dew point temperature

C) Maximum temperature

D) Minimum temperature

8) Which of these clouds is usually associated with bright sunny weather?
A) Cumulonimbus

" B) Stratus

C) Cirrus

D) Cumulus

9) The type of rainfall that results from the influence of relief on wind is called?
A) Frontal

* B) Convectional

C) Cyclonic

D) Orographic

~ 10) All of the follpwing are precautions taken when siting a rain gauge EXCEPT.
A) The rain gauge must be in an open area

B) The rain gauge must be painted white

C) The rain gauge must be high above the ground

D) Part of the rain gauge should be in the ground

11) Poverty can be defined as?

A) A state of misery

B) Poor health

 C) Environmental degradation

D) Lack of capital to acquire basic needs

12) The exploitation of* natural resources to meet the needs of the present generation without
forfeiting the needs of future generation is referred to as?

A) Economic development

B) Economic growth

. C) Sustainable development

D) High standards of living

13) All of the following are characteristics of Least Industrialized Countries EXCEPT.



20) All of the following are Millennium Development Goals EXCEPT.
A) Eradicate extreme poverty
B) Promote gender equality
C) Reduce infant mortality
D) Reduce level of education )
- SECTION B: Answer all the questions in this section

1) Define the following geographical terms: (2 marks each)
a) Condensation

b) Fog

¢) Precipitation

d)Classify the followmg under clouds and precipitation: MlSt hail, drizzle, fog, contrails, rain,
stratus, sleet (tabulate your work) (4 marks)
e) Explain any two types of rainfall

SECTION C: Answer all the questions in this section

2a) Outline three characteristics of Stage 2 of Rostow’s Model (3 marks)

b) State two failures of Rostow’s Model (2 marks)

¢) Name two causes and solutions to poverty (4 marks)

d) Mention three strategies used by NICs to emerge (3 marks)

e) Give two successes and two failures of the Millennium Development Goals (4 marks)
f) List four Millennium Development Goals (4 marks)
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Good luck!
No easy ride to success!
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